Mathematics 9 Date:
Day 4: Money Problems Unit 4: Word Problems

Money Problems

Sam has $10.65 made up of dimes and quarters. If there are 54 coins in all, how many dimes and
guarters does he have?

To help solve this problem complete the chart below.

Nurr_lber of Number of Valqe of Dimes Valug of Quarters Total Value
Dimes Quarters (in cents) (in cents)
53 1 10x53=530 25x1=25 555
52 X [0x52-529 25x2=50 520450 = 5F5
33 54-33=2| |0*33= 3%0 1512 =925 |5254330= %54
d 54-d \oxd =\0d 25(54-d) lod + 29(5'1-3)
54-9 q \o(54-9) 959 \0(540-9) + 254

Use the information from the chart above to set up an equation and solve the problem.
J\e.-l- “d“ Awno unt of dimes Sam has
d-'m¢.5 \ AQuarters

d 5y-d
ln +otal s 31067 (1065 x100 = \065°¢)
10d + 25 (54-o) = 067 Ue has 1A dimes and ;q_la,),gﬁlwﬂw
lod + 1%50-29d = 065
59— 1wd-1350= (0651350
-15d = - 289
Ul -\5

In your notebooks, solve the following problems.

2. a) A bill of $2.35 was paid in dimes and nickels. If there were 32 coins in all, how many of each coin
were there?

b) The value of the dimes in a vending machine is $1.70 more than what it contains in quarters. If
there are 199 coins in all, how many dimes and quarters are there?

c) Jordan bought a radio for $120. He paid for it with $2 coins and $5 bills. If there were half as many
coins as bills, how many $2 coins were there and how many $5 bills were there?

d) Bob has $43.75 made up of $2 coins and quarters. If there are 22 more quarters than $2 coins, how
many quarters are there?

e) Ed has $8.50 in nickels and quarters. The number of nickels is 5 more than 6 times the number of
guarters. How many nickels does he have?

f) Terri has some dimes and nickels in her purse. She has four more dimes than nickels. The value of
the nickels is $1.60 less than the value of the dimes. How many of each coin does she have?

Answers:

2. a) 17 nickels, 15 dimes b) 147 dimes, 52 quarters c) 10%2, 20 $5
d) 39 quarters e) 95 nickels f) 24 nickels, 28 dimes
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Sn+320-10n = 235
220-50-2W0= 225 -322
~5n - 215
-5 -5
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Valve of dime s I Value ot querter
lod | 27(1a9-4)

lod = 25(199-d) + 170
lod = L475-25d +1#0

+254+ (0d = 54T -29d+425

Ys5d = SIYT
25 35

d=Iy?

e

c. Let "B" 4he numbe of bl
*Q C Ol‘nj ‘Wb ' IlJ

S \ b
2L
There w.re 20 $5 b/l and |0 #2(,0?”

2.k L 95b= |20
( 2

2o, 5b= (20
2

L4 5b=120
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d. Jet ‘Thu rcloresm-l- +he Number ©t toonies (‘."p?_ co.‘n_q,)

+oohies | avartey

t E+22
¥ centS
4 A~

200t —+ lq(t-l'Q.’L): 4379
900t + 25t +'5'60—_ ‘{3?‘7
005t 15507 = q%?s -550
225t = b925
a5 L5
. There are |7 toonicy and 39 C'“"""UJ.

c. (g
het 9 be dhe number of qua(-&o

qQuavtery | nicke b
9 \ 6q+7

— A~
259 + 5(69+5)= 850
259 + ’500, +25 < 8§50
559+25-17= §s0 -25
S99 = &2
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